CY3R series

ST IER

BRIEER : 06~063

) FREI. A vFL—IG(EES)ERLET,

\
m
of E| = )
= = s - -
> s
A —
2x759/ & Lw [k
H 2XP(@REF -
Lo HA - AXESYEB T
HP EREC
2XP(BER—-F 4XJIXE
4x3.2 =
ol Bl fed = @
y >/ o : :
) = I 4 oa
L < e >
! ] \
CY3R6MDigS [} 234X MM
is = nLZEEM \zwﬂ/—w
CR HR G Q+Z ~O—%
2+ +O0—2
Pone -
GYIRn~ 05 1) 050, 6312, L3:cHIET,
CY3R10~20Mi88
®WX | A B CB|CR| D GP | GW HC [ HP [ HR [ HS [ HT | JXE
CY3R6 | 7 | — 2 |05]|7.6]|55][3" | 20 185 18 [10.56"] 17 |6 [10.5"] M4x0.7X6
CY3R10| O |65 2 |05 [12 5|4 | 27 [2565 25 [14 | 24 |5 |14 | M4x0.7x6
CY3R15 |10.5 8 2 10.5 16.6j 5 | 33 |31.5 31 [17 | 30 | 8.5 |17 | M5X0.8X7
CY3R20| O |95 3 |1 |21.6° 6 | 39 |37.5 38 |24 | 36 | 7.5 |24 MBX 1 X8
CY3R25 | 85| 9.5 3 |1 |26.4%| 85| 6 | 44 |425 43 |235| 41 | 6.5 [23.5] M6x1x8
CY3R32 [10.5/11 3 |1.533.6710.5] 7 | 55 |53.56 54 (29 | 51 |7 |29 |M8x1.25%10
CY3R40 [10 |11 5 |2 416" 7 | 65 |63.5 66 |36 | 62 |8 |36 |M8x1.26x10
CY3R50 |14 |14 5 |2 [52.4% 8.5 | 83 [81.5 84 (45 | 80 |9 |45 |M10x1.5%x15
CY3R63 |15 |14 5 |3 [65.4° 8.5 | 95 |93.5 96 |51 | 90 | 9.5 |51 |M10X1.5%x15
5, L LD MM N PW Q aw ws X z
CY3R6 | 34| 3.5 M3x05 | 35| 19 | 60% 10 | 145" 95 6| 10 | 35.5| 66~
CY3R10 | 38| 3.5 M3x05 | 45| 26 | 68 | 14 | 17.5 8| 15 | 39.5| 76
CY3R15 | 53| 4.3 M4x0.7 | 6 | 32 | 84 | 18 | 19 7| 18 | 654.5| 94
CY3R20| 62| 5.4 M4ax0.7 | 7 | 38 | 95| 17 | 20.5 7 | 22| 64 | 107
CY3R25 | 70| 5.4 M5x0.8 | 6.5]| 43 | 105 | 20 | 21.5 215| 7|28 72 | 117
CY3R32| 76| 7 M6x1 | 85| 54 | 116 | 26 | 24 71 35| 79 | 130
CY3R40 | 90| 7 MB6x1 |11 | 64 | 134 | 34 | 26 7 40 | 93 | 148
CY3R50 | 110] 8.6 |10 |M8x1.25|15 | 82 | 159 | 48 | 30 10 | 50 |113 | 176
CY3R63 |118| 8.6 |10 |M8x1.25[16 | 94 | 171 | 60 | 32 10 | 60 |121 | 188
P(fi2E+—F)
B mmE | W T
CY3R6 |M3x0.5" — —
CY3R10 | M5x0.8 —_ —
CY3R15 | M5x0.8 — —
CY3R20| Rci1/8 | NPT1/8 | G1/8
CY3R25 Rc1/8 NPT1/8 G1/8
CY3R32| Rci/8 | NPT1/8 | G1/8
CY3R40| Rcl/4 | NPT1/4 | Gl/4
CY3R50| Rcl/4 | NPT1/4 | Gl1/4
CY3R63| Rci/4 | NPT1/4 | Gi/4

F2) ¥ENACYIRV ) —Z L BHEDTHEETRT.

1476

N
3




